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AB4C oC24 63 c fg c-001
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Prototype CaO4Si

AFLOW prototype label AB4C oC24 63 c fg c-001

Strukturbericht designation H01

Mineral name anhydrite

ICSD 40043

Pearson symbol oC24

Space group number 63

Space group symbol Cmcm

AFLOW prototype command aflow --proto=AB4C_oC24_63_c_fg_c-001

--params=a, b/a, c/a, y1, y2, y3, z3, x4, y4

Other compounds with this structure
CdCrO4, MgCrO4, MgSO4, NaBF4, NaCrO4, NiSO4

• (Hawthorne, 1975) give the structure in the Amma setting of space group #63. We have transformed this to the
standard Cmcm setting.
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• The addition of water into the anhydrite crystal transforms it into gypsum.

Base-centered Orthorhombic primitive vectors

a1 = 1
2a x̂− 1

2b ŷ

a2 = 1
2a x̂ + 1

2b ŷ

a3 = c ẑ

Basis vectors

Lattice
coordinates

Cartesian
coordinates

Wyckoff
position

Atom
type

B1 = −y1 a1 + y1 a2 + 1
4 a3 = by1 ŷ + 1

4c ẑ (4c) Ca I

B2 = y1 a1 − y1 a2 + 3
4 a3 = −by1 ŷ + 3

4c ẑ (4c) Ca I

B3 = −y2 a1 + y2 a2 + 1
4 a3 = by2 ŷ + 1

4c ẑ (4c) S I

B4 = y2 a1 − y2 a2 + 3
4 a3 = −by2 ŷ + 3

4c ẑ (4c) S I

B5 = −y3 a1 + y3 a2 + z3 a3 = by3 ŷ + cz3 ẑ (8f) O I

B6 = y3 a1 − y3 a2 +
(
z3 + 1

2

)
a3 = −by3 ŷ + c

(
z3 + 1

2

)
ẑ (8f) O I

B7 = −y3 a1 + y3 a2 −
(
z3 − 1

2

)
a3 = by3 ŷ − c

(
z3 − 1

2

)
ẑ (8f) O I

B8 = y3 a1 − y3 a2 − z3 a3 = −by3 ŷ − cz3 ẑ (8f) O I

B9 = (x4 − y4) a1+(x4 + y4) a2+ 1
4 a3 = ax4 x̂ + by4 ŷ + 1

4c ẑ (8g) O II

B10 = − (x4 − y4) a1 − (x4 + y4) a2 +
3
4 a3

= −ax4 x̂− by4 ŷ + 3
4c ẑ (8g) O II

B11 = − (x4 + y4) a1 − (x4 − y4) a2 +
1
4 a3

= −ax4 x̂ + by4 ŷ + 1
4c ẑ (8g) O II

B12 = (x4 + y4) a1+(x4 − y4) a2+ 3
4 a3 = ax4 x̂− by4 ŷ + 3

4c ẑ (8g) O II
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